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Martin Brown                

Brandon Crane                

Sandra Kyle                

Emily Price                

Jason Stone                

IN
TE

RV
IE

W
 D

A
Y Monday           Clue 1: Martin went on a 

job interview in the middle 
of the week. He’s the 2nd 
oldest. He isn’t an editor. 
Clue 2: Neither the 
architect, Mrs Kyle nor the 
man who had a job interview 
in a newspaper on Friday is 
28 years old. 
Clue 3: First was the 
teacher’s interview. 
Clue 4: Jason is older than 
Sandra but younger than 
the engineer. 
 

Tuesday           

Wednesday           

Thursday           

Friday           

A
GE

 

28        

32      

34      

37      

42      

 
Now summarize your answers. 

NAME POSITION AGE INTERVIEW DAY 

Martin Brown    

Brandon Crane    

Sandra Kyle    

Emily Price    

Jason Stone    

Now write sentences. Look at the example.  
e.g.: Conrad Jefferson is a 30-year-old chef and had a job interview on Wednesday. 
1) __________________________________________________________________________________________ 
2) __________________________________________________________________________________________ 
3) __________________________________________________________________________________________ 
4) __________________________________________________________________________________________ 
5) __________________________________________________________________________________________ 
 

Meet five applicants who want to find a new job. From this game you can find out what 
job they are applying for, their age and the day of the job interview.  
Look at the clues, fill in the tables, and then write full sentences using the solution.  
 
To solve this logic game put an 'X' where there is a relation and '-' where there isn't. 

 Clue 5: Not the 42-year-old 
secretary had a job 
interview on Tuesday. 
Clue 6: The women had their 
job interviews in the 
beginning of the week. 




